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Answers
Beraucnuthb A) -4.6
Evaluate B) -4
1 C)-3.3
(3.4-5:—):2 D) -1.6
2 E)O
(3 points/3 Gamna)
B rpymme 6 crynenTtoB B Bo3pacte 14, 15, 15, 16, 16 u 20 ner. Haiitu | A) 14
CcpenHui BO3pacT CTYJCHTOB B 3TOM TpyIIIIe. B) 15
C) 16
A study had six students whose ages were 14, 15, 15, 16, 16, and 20 D) 17
years old. What was the average age of the group? E) 18
(3 points/3 Gamna)
B ynuBepcurere odyudaercsa 2 500 crynenTtos, u3 Hux 15% A) 150
CHeLUUATH3UPYIOTCsl HAa aHTporosioriu. CKONBKO CTYIIEHTOB B) 250
YHUBEPCHUTETA 00y4YaeTCsl Ha aHTPOIIOJIOT v ? C) 275
D) 325
Given the university has 2,500 students and 15% of students major in | E) 375
anthropology, how many students major in anthropology? o
Haiiti nepumerp A) 20
Find the perimeter of the following figure. B) 21
7 C) 25
D) 26
5 E) 29
F) 34
1 ]
1
1 (3 points/3 6asra)
Brraucauth A) -35
Evaluate B) -3
C)-2
log ~— g)) il
5125

(3 points/3 Gamna)

N Tasks Answers

6. YpocTuTh A) x+6
Simplify B) x+24

C) x+10
X2 —4 2
+6 D) X% —4x
2x+4 _ E) 2x-12
(4 points/4 6ana) :

7. [Mepumerp npssmoyrosibpHuKa paseH 20, a mmpuHa A) 21
NpsSMOYroJibHUKA Ha 4 cM Kopoue JuinHbl. HaliTu nutoraap B) 24
HPSIMOYTONBHHUKA. C) 25

D) 30
Find the area of the rectangle with perimeter 20 cm, if the E) 32
width is 4 cm shorter than the length. )
(4 points/4 Gana)
8. Berarciuts A) 85
Evaluate B) 90
(/9 —B)? (B +B)? ©) 100
D) 125
0.16 E)196
(4 points/4 Gama)

9. | TpybOa A 3anoaHuT HUCTEPHY 3a 2 Yaca, a Tpyba B 3anonuur | A) 0.5 gac. (h.)
9Ty K€ LIMCTEPHY 3a 3 Yaca. 3a CKOIbKO BpeMeHu aBe Tpyosl | B) 0.8 wac. (h.)
3aIONTHAT MUCTEPHY, paboTas OMHOBPEMEHHO? C) 1.1 1ac. (h.)

D) 1.2 yac. (h)
Pipe A can fill a tank in 2 hours and pipe B can fill the same | E) 1.5 gac. (h.)
tank in 3 hours. How long will it take both pipes together to
fill the tank?
(4 points/4 Ganna)

10. | Haiitn cymMy Bcex 3HAUYCHUI X, YAOBICTBOPSIOIINX A) -1.2

YpaBHEHHIO B)-0.8
C)-0.4

Find sum of all solutions D)0
E)0.4

|5X + 2| =4
(4 points/4 Gamra)




Tasks

Answers

16.

JIBa camonera BBUICTAIOT OJJHOBPEMEHHO M3 ITyHKTOB A U B u steTsit
HaBCTpedy APYT APYTYy C HOCTOSIHHBIMHU CKOpoCcTAMU. VX BcTpeua
MPOW30IIUIA Yepe3 TPH Jaca IoCiie BBUIETa, U ellle Yepes3 JBa Jaca
nepBBIi camoreT npu3emiwics B B. Uepes kakoe Bpems 1mociie
BBUIETA NPU3EMIIUTCSA B A BTOpOIi camoneT?

Two airplanes left at the same time to towns A and B and flew
towards each other with constant velocities. They met each other
after 3 hours. After that the first airplane arrived at B in 2 hours.
How long did it take the second airplane to fly from B to A?

(7 points/7 6amnoB)

(.5 qac. (h.)

17.

Pemmte cucremy ypaBHEHUIA U HAiTH HAaHOONbIIIee 3HAYECHHE
BEIIUYMHEI X1Y.

Solve the system of equations and find the largest value of x+y.
(x+6y =5,

7 points/7 6
Xy =1 Tp AJIJIOB)

18.

Pemute ypaBHEHHE ¥ HAUTH CYMMY BCEX pEIIEHUH

Solve the equation and find the sum of all solutions.
2
|x+2]* # =1
(7 points/7 GamoB)

19.

PemuTh HEpaBEHCTBO U HAWTH CYMMY BCEX LIEJIBIX PELLIEHUI

Solve the inequality and find the sum of all integer solutions

Jx+2>x

(7 points/7 GamoB)

N Tasks Answers
11. | Haiitu ceapMoii YeH reOMETPUYECKOU POrpecCur ’

Find the seventh term of the geometric sequence

11
1, ——3..
24
1

(6 points/6 GasioB) 64
12. | Haiitu obnacTh onpeeneHus GyHKIUU

Find the domain of the function

2+3—x
y=——5—
X—2
(6 points/6 GasioB)
(—0;2) u(2:3]

13. | Pemth ypaBHEHHE M HAWTH CYMMY BCEX KOPHEIA.

Solve the equation and find the sum of all solutions.

X2+ p-11x |=14x +5 .

(6 points/6 GasoB)

14. | Pemuth HEPABEHCTBO (—o0; -6](2; 4];

Solve the inequality

(x+6y'(x—4)

. >0. (6 points/6 Gaswios)
(2-x)

15. | Pemmwts ypaBHEHME U HANTH CyMMY BCEX PEILIEHHI

Solve the equation and find the sum of all solutions.

1;

2 _ —
Iog4(3x 3X 575)_I0g 052
(6 points/6 GamoB)

20.

Haiiti cymMy Bcex IIeNbIX 3HAYCHUIA &, TIPH KOTOPBIX rpaduKu
(hyHKIHI HE TIepeceKaroTcs?

Find the sum of all values of a for which graphs of the functions
do no intersect?

y=2ax+land y=(a—6)x*—-2
(7 points/7 6asnoB)

A)-12




